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52.3  SIRgor

Definition SIReror = SIR = SIR target_ave, Where:
SIR = the SIR measured by UTRAN, defined in section 5.2, given in dB.

SIR target ave = the SIR et averaged over the same time period as the SIR used in the SIR g
calculation. In compressed mode SIR4gei=SIRcm targer.Shall be used when calculating

SIR target_ave- IN compressed mode the SIR et ave Shall not be calculated over the transmission
gap. The averaging of SIRge Shall be made in a linear scale and SIR et ave Shall be given in
dB.




